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Chapter 3: 3-2 Graphs of Equations (IC/HW)-Days 1 & 2
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Sketch the graph of the equation, and label the x- and y-intercepts.
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Use tests for symmetry to determine which graphs in the indicated excercises are symmetric with respect to
(a) the y-axis, (b) the x-axis, and (c) the origin.
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Sketch the graph of the circle or semi-circle.
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Find an equation of the circle that satisfies the stated conditions.
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Find the center and radius of the circle with the given equation. (jg_)’ ()’%
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Find equations for the upper half, lower half, right half, and left half of the circle,
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Determine whether the point P is inside, outside, or on the circle with center C and radius r. b //7’9'/7*))9
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Find the x-intercepts and the y-intercepts of the circle.

Y igh

34, X’ +y’ —4x—6y+4=0
Loind s (Yz0) xP-H% 4 =0 y-inki(%=0)
CX'Z));O yz"@7’+4:0
- 9= 2500 . sz

W Z _
G—’rm: (0,3/%)

35. Find an equation of the circle that is concentric (has the same center) with x* + y* + 4x — 6y + 4 = 0 and
passes through P(2,6).
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